CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1

Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with W iron are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 1 Steno Typist English CET Exam
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 1 Steno Typist English CET Exarn
Group Marks: 200

CAT 1 Steno Typist English CBET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 2602691 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Who among the following rulers inflicted a crushing defeat on the Bhadanakas and annexed their territory?
Options:

, = Anangapala

> % Harsha Vardhan

- % Mahendrapalal

4 « Prithviraj III

Question Number : 1 Question Id : 2602691 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical
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Options:
| % I
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o % Hgegare |
4 v T I

Question Number : 2 Question Id : 2602692 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Puran Bhagat. a 12t centurv saint, is also known as:

Options:

, « Chaurangi Nath

> % Gorakh Nath
= % Mast Nath

4 % TotaNath

Question Number : 2 Question Id : 2602692 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

1287 oraTedy & TG A 81T & FE A F F 8 F=Ar SA1ar 82

Options:

| TN Ay

o % TR AT

z % HET AT

g ?—ﬁT-ITETE‘-T

Question Number : 3 Question Id : 2602693 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

A bulk of the evidence from the archaeological site of Kunal in Fatehabad belongs to:

Options:
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,  Pre-Harappan period
-~ % Mature Harappan period

- % Late Harrappan period

, % Post-Harappan period

Question Number : 3 Question Id : 2602693 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

@mﬁw#gﬂmﬁmmﬁmgaﬁmﬁmwmﬁﬁ?
Options:

qq ST FTel

1. =
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Question Number : 4 Question Id : 2602694 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Famous Bhasha Granth Vichar Sagar was written by:

Options:
, » BabaMeghnath

> « Sadhu Nischal Das

5 % Yogi Mehar Nath

4 % Mahant Shriyu Nath

Question Number : 4 Question Id : 2602694 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

gfae s 7y fFar @R Oae o g

Options:

| % STET HEATY
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Question Number : 5 Question Id : 2602695 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

The recently organised ‘Swarna Jayanti Journalists Meet” was held in the district of Haryana.
Options:
1 % Karnal

> % Sonipat

5 % Gurugram

4 « Panchkula

Question Number : 5 Question Id : 2602695 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

‘TIUT FTST I9RR TFEHOS T &1 H g & HiF ¥ S 7 e B o are
Options:
1 #® Shllol

Question Number : 6 Question Id : 2602696 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Harvana’s budget for the financial year 2017-18 was presented by:
Options:
, + Captain Abhimanyu

- % Kaptan Singh Solanki
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= % Manohar Lal Khattar

, % Narendra Singh Tomar

Question Number : 6 Question Id : 2602696 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

faeda a¥ 2017-18 & forw gRamon & a=e e gega far o
Options:
, e 3@&-&&3

.« wea &g Hreeh
o B mmw
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Question Number : 7 Question Id : 2602697 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

As per data of December 2016, child sex ratio at birth in Harvana was approximately:
Options:

1 ® 700

> % 800

2 « 900

4 % 1000

Question Number : 7 Question Id : 2602697 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

et 2016 & 3T & H[ER, ERAT F FoH & THT A 09T IS FAT AT?

Options:

, % 700
. % 800

- v 900
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4 % 1000

Question Number : 8 Question Id : 2602698 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

As per the Economic Survey of Harvana (2016-17), the secondary sector in Haryana was approximately growing at:

Options:
1 6.4%
> % 15.1%

2 % 30.1%

4 % 1.8%

Question Number : 8 Question Id : 2602698 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

BRI T & (I9 2016-2017) & 3T@R, §RAOT # facae &5 & w7 fhaer 3fy g8 0

Options:

| v 6.4%
- % 15.1%
- = 30.1%

4% 1.8%

Question Number : 9 Question Id : 2602699 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

Who wrote ‘Sri Guru Nanak Prakash’. an epic poem dealing with the life and teachings of Guru Nanak?

Options:
, « Bhai Santokh Singh
> % Deedar Singh

5 % Sahib Singh Mrigendra

4 % Bagg Singh

Question Number : 9 Question Id : 2602699 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

T A HT e AT Fugt & WS ve Ageed Hiaar # T A T & Wi w87
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Options:

v o S
, » SR fiE
. W g e
o

Question Number : 10 Question Id : 26026910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the book for which writer Deep Chand Nirmohi was given the Haryana Sahitya Akademi Award?

Options:
1 % Dharti Ka Safar

- % Chaand Ka Safar
5  Suraj Ka Safar

, % Suraj Ka Satvan Ghoda

Question Number : 10 Question Id : 26026910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mfmﬁaﬁnﬁraﬁ%ﬁw#ﬁmmmmwﬁmmm
Options:
| ® U W FR

o % G # HE

. v T F TR

, » I F HIEET ST

Question Number : 11 Question Id : 26026911 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who has written the poem *Idhar Bhi Gadhe Hain Udhar Bhi Gadhe Hain’?

Options:
1 % Surendra Sharma
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-  Om Prakash ‘Aditya’
- » Gemini Haryanvi

4 % Alhar Bikaneri

Question Number : 11 Question Id : 26026911 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘T off 1 § 3uT off g § wiaar e o 22
Options:

1. % Eﬁa%m&r
- o HIF S HifeeT

. % SiAT gRamoTEr
. % 3ogs demd

Question Number : 12 Question Id : 26026912 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many districts did Haryana consist of during its formation?
Options:
1 % Eleven

> % Nine
5 x Eight

4 o Seven

Question Number : 12 Question Id : 26026912 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

eI ¥ Tea F gHT suA Gaw e a7

Options:

1 JOg

> % &t
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3333‘“75

4 v HId

Question Number : 13 Question Id : 26026913 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which district has the Topra Ashokan Pillar been found?
Options:
1 # Kurukshetra

> % Bhiwani
= « Ambala

4 % Karnal

Question Number : 13 Question Id : 26026913 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T M T T ¥ 5o # umar w27
Options:

FTET
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4_5.&%?1?{

Question Number : 14 Question Id : 26026914 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many villages does Haryana have?
Options:

1w 5,841

> % 0,348

- % 6,184

, ® 6.048
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Question Number : 14 Question Id : 26026914 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g # fhaa T g7
Options:

. v 6,841

, % 6,348

. « 6,184

, » 6,048

Question Number : 15 Question Id : 26026915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who was the first Chief Minister of Haryana?
Options:
1 % DBansilal

> % Rao Virender Singh
-  DBhagwat Dayal Sharma

4 % Banarsi Das Gupta

Question Number : 15 Question Id : 26026915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g & Jgel FEIHN Hid 472

Options:

1@3’@!3!1?

- v SETEd ETe AT

, w SECHI STE I

Question Number : 16 Question Id : 26026916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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What is the minimum educational qualification set for women and schedule caste candidates to participate
in panchavat elections?

Options:

| 8™ pass

o % 10t pass

_— 11% pass

12t pass

Question Number : 16 Question Id : 26026916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

qad gaEr A Afgensit 3R awggEa ST F geaa & O FuiRe gaan dafte degar 2 22
Options:

| v HISST TH
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Question Number : 17 Question Id : 26026917 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Haryana, of the total 90 legislative seats, are reserved for the schedule castes.

Options:
1 ® 15 seats
> o 17 seats

= % 19 seats

4 % 23 seats

Question Number : 17 Question Id : 26026917 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

RO #r Fer 90 femAweT Wt F @ Hafa St & e smfEa #)

Options:
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5 o 17 T
- = 19 @&

4 % 23 @i

Question Number : 18 Question Id : 26026918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

On 26th August 2014, the state government of Haryana had raised the retirement age of Government employees:
Options:
, w Irom 55 years to 58 years

o  from 58 years to 60 years

5 » from 60 years to 62 years

4 % from 62 years to 65 years

Question Number : 18 Question Id : 26026918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

26 3ETEA 2014 1, gRAOT ToT THR o TR FHAGT HI Hallagicd
3T T fhae w4 #?

Options:

, % 55 I ¥ 58 ¥

.« 58 I ¥ 60 TN
;% 60 3§ ¥ 62 ¥

4 % 62 39 T 65 I¥

Question Number : 19 Question Id : 26026919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

is the only seasonal river that flows through the northern fringes of Haryana.

Options:
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|  Ghaggar
o % Yamuna
- % Sutle

4 % DBeas

Question Number : 19 Question Id : 26026919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

THATT AtEHT 787 § S I F 3ol AN ¥ 2 98T B
Options:
2 2CLIEY

4 » SUTH

Question Number : 20 Question Id : 26026920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The state government of Haryana has set up under National Green Corps scheme.
Options:
1 « Eco-Clubs

- % Nature Clubs
5 % Eco-Groups

4 % Solar Clubs

Question Number : 20 Question Id : 26026920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i F T5T e 7 T g S TS F J98d T TATAT FT
Options:

| v TTRTEuTER-FeT
L x TP Fo
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Question Number : 21 Question Id : 26026921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per India State of Forest Report, 2015, around of Haryana’s geographical area is under forest cover.
Options:

1« 3.58%

> % 5.54%

2 % 7.91%

4 % 1.75%

Question Number : 21 Question Id : 26026921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IRT T T AT 2015 & @R, gRAOT & o &7 Fv e I &7 2

Options:

. v 3.58%
. % 5.54%
2 % 7.91%

4 % 1.75%

Question Number : 22 Question Id : 26026922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Baisakhi Mela is celebrated every year in the gardens.
Options:

|  Pinjore

- % Gondar

- % Bilaspur

4 % Badhara
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Question Number : 22 Question Id : 26026922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SETET Jem IS av & IETAT H FATT ST 2

Options:

L v BEk
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4 » B

Question Number : 23 Question Id : 26026923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Pinjore Heritage Festival was first held in:
Options:

1 ® 2001

> % 1995

3 « 2006

4 % 1992

Question Number : 23 Question Id : 26026923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=ity Bog #gicgs 9gs 91X &9 WiTg &ar a1ar 9r7?
Options:

. % 2001

- % 1995

- » 2006

L % 1992

Question Number : 24 Question Id : 26026924 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A fair known as Mela Sacha Sauda is celebrated at Sirsa town on the last Sunday of every month in the memory of:

Options:

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1

, + Faqir Shah Mastana
-~ % BabaBoota Singh

3 % Saint Shah-Bu-Shah

4 % Bhuman Shah

Question Number : 24 Question Id : 26026924 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

# S 7 & #qE & Jaw FEER 5 gfmor & G B 7, & g==
ler [T ST

Options:
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. T UAE-T-AE

4« T @

Question Number : 25 Question Id : 26026925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Surajkund Mela is organised every year in the suburbs of
Options:

, w» Pinjore

> % Gondar

- » Bilaspur

4 « Faridabad

Question Number : 25 Question Id : 26026925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FISHS ATl F1 S Tedeh 9§ & 30N A fhar e gl

Options:
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Question Number : 26 Question Id : 26026926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a word ends with a combination , the upward r is used.
Options:
1 « I +vowel

> % vowel +r
3 ® t+vowel

4 % vowel +t

Question Number : 26 Question Id : 26026926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a word ends with a combination . the upward r is used.
Options:
1 « r+vowel

- % vowel +r
3 % t+vowel

4 % vowel +t

Question Number : 27 Question Id : 26026927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The intersection ‘th’ represents the word

Options:
1 « Month

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1

> % Think
%z % Thank

4 % Thanked

Question Number : 27 Question Id : 26026927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The intersection ‘th’ represents the word
Options:
1 « Month

> % Think
= % Thank

4 % Thanked

Question Number : 28 Question Id : 26026928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Strokes w and v are straight
Options:
1 % Horizontal

- % Downstroke
= % Vertical

4  Upstroke

Question Number : 28 Question Id : 26026928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Strokes w and v are straight
Options:

1 % Horizontal

> % Downstroke

= # Vertical

4 Upstroke
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Question Number : 29 Question Id : 26026929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stroke "d" written above the line represents the short form
Options:

1 % do

- « had

= % different

4 % difference

Question Number : 29 Question Id : 26026929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stroke "d" written above the line represents the short form
Options:

1 % do

> « had

5 % different

4 % difference

Question Number : 30 Question Id : 26026930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m and n are strokes.
Options:
1 « Curved

> % Straight

z ® Up

4 ® Down

Question Number : 30 Question Id : 26026930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m and n are strokes.

Options:
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1 « Curved

- w Straight

o W Up

4 % Down

Question Number : 31 Question Id : 26026931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Downward r is halved and thickened to indicate a following

Options:
1 *® T

2_% Rt
z. ¢ D

4 % Rd

Question Number : 31 Question Id : 26026931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Downward r is halved and thickened to indicate a following
Options:
1 #® T
o W Rt

2« D

4 % Rd

Question Number : 32 Question Id : 26026932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stroke “m” is and thickened to indicate following *d”
Options:

1 % doubled

> « halved

5 » lightened
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4 % darkened

Question Number : 32 Question Id : 26026932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stroke “m” is and thickened to indicate following “d”

Options:
1 % doubled

> « halved

- u lightened

4 % darkened

Question Number : 33 Question Id : 26026933 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vowel u is represented by a dash.

Options:

, » Heavy

=z % Small

4 « Light

Question Number : 33 Question Id : 26026933 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vowel u is represented by a dash.

Options:
1% Heavy

> » Big
=z % Small

4 « Light

Question Number : 34 Question Id : 26026934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Light simple down strokes are

Options:
1 ¥ P, t, ch
> % F th, s

5 % FL VL thr

, % FLvl thl

Question Number : 34 Question Id : 26026934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Light simple down strokes are

Options:
1 ¢ P t, ch
> % F th, s

- % FLvL thr

4 % FLvLthl

Question Number : 35 Question Id : 26026935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The intersection M represents the word
Options:
1 « Mail

> % Meal

- % Monday

4 % Measure

Question Number : 35 Question Id : 26026935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The intersection M represents the word
Options:
1 « Mail

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1

> % Meal

- » Monday

4 % Measure

Question Number : 36 Question Id : 26026936 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The initial sound *Z’ is represented by
Options:

1 % Circle S

> % Circle Z

3 % Stroke S

4 « Stroke Z

Question Number : 36 Question Id : 26026936 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The initial sound *Z’ is represented by
Options:

1 ® Circle S

> % Circle Z

z % Stroke S

4 « Stroke Z

Question Number : 37 Question Id : 26026937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When an initial circle or a loop is written on the same side as the hook of the pr series, the is included.
Options:

1 ® T

2« R

S_QE

4 % D
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Question Number : 37 Question Id : 26026937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When an initial circle or a loop is written on the same side as the hook of the pr series, the is included.
Options:
1 ® T

>« R
3_%]3

4.%]:}

Question Number : 38 Question Id : 26026938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Final r, when hooked, is usually written

Options:

, = Vvertically

-~ % Horizontally
5  Upward

4 % Downward

Question Number : 38 Question Id : 26026938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Final r, when hooked, is usually written

Options:
, = Vvertically

- » Horizontally

5  Upward

4 % Downward

Question Number : 39 Question Id : 26026939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A hooked stroke f. v, n is halved to indicate a following t or d.

Options:
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,  Finallyl
- % Medieval

5 % Ending

4 % Beginning

Question Number : 39 Question Id : 26026939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A hooked stroke £, v, n is halved to indicate a following t or d.
Options:
; « Finallyl

> % Medieval

- % Ending

, % Beginning

Question Number : 40 Question Id : 26026940 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

“had not™ is written the line.
Options:

1 % On

> « Above

=z % Below

4 w Through

Question Number : 40 Question Id : 26026940 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“had not™ is written the line.
Options:
1 % On

- « Above
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=z % Below

4 w Through

Question Number : 41 Question Id : 26026941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

—i]
Sl

Options:
1 # A

Q_WB

3. ¢ C

4 % D

Question Number : 41 Question Id : 26026941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

7ol
Sl

Options:
1 & A

2_$$B
z ¢ C

4 % D

Question Number : 42 Question Id : 26026942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

. =

N N

- b ]

D o —

Options:
1.¢ A

E_WB
3. % C

4 % D

Question Number : 42 Question Id : 26026942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

-

R 7 o

D o _—

Options:
1.¢ A

E_WB

4 % D

Question Number : 43 Question Id : 26026943 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

AN

| X

A
A
B Y
B
c
D
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Options:
1 & A

2_%]3

3. ¢ C

4 % D

Question Number : 43 Question Id : 26026943 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

v %

\ 1 x
%

D

Options:
1 & A

2_$$B

2.« C

4 % D

Question Number : 44 Question Id : 26026944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

Z\-\' ;

<
—

D

Options:
1 & A

> « B
z % C

4 % D

Question Number : 44 Question Id : 26026944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

Z\-\' ;

™
A
B
W
i 3
C
N
D
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Options:
1 & A

>« B
3. % C

4 % D

Question Number : 45 Question Id : 26026945 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the right word from the options given below to fill in the blank.

D :I - —Y

Options:
1 ® A

>« B
3z % C

4.$$D

Question Number : 45 Question Id : 26026945 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the right word from the options given below to fill in the blank.

L}

D 'I - —SET

Options:
1 & A

>« B

3. % C

Question Number : 46 Question Id : 26026946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer from the aptions given.

Auto rickshaw drivers have become major stumbling block to concerted efforts of the Municipal Corporation and
city police to ease traffic congestion at Heritage Square in Chowk Bazaar.

Options:
L% the, a

5 8 the

= ® d. a

4 % d. dil

Question Number : 46 Question Id : 26026946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blanks in the sentence below with suitable articles. Choose your answer from the aptions given.

Auto rickshaw drivers have become major stumbling block to concerted efforts of the Municipal Corporation and
city police to ease traffic congestion at Heritage Square in Chowk Bazaar.

Options:
, w the.a

5 8 the

= ® d. a

4 % d. dn

Question Number : 47 Question Id : 26026947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer fiom the options given.

Asper  figures available from RTO, there are around 99,000 auto rickshaws plying on city roads.
Options:
1w the, the, the

5 % 8 the. a
5 % the, a. the

4 % 8.8 the

Question Number : 47 Question Id : 26026947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer fiom the options given.

Asper  figures available from RTO, there are around 99.000 auto rickshaws plying on city roads.
Options:
i « the, the, the

> % 8 the a
5 % the, a. the

4 % a. a. the

Question Number : 48 Question Id : 26026948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blanks in the sentence below with suifable prepositions. Choose your answer from the options given:

People  Khapat village were _ for a surprise when they saw a pride  four lions taking shelter  a dilapidated
house on Monday.

Options:

L R in, under, on, by

5 of of, in. of, in
- % ON into, in, by

4 R off. over, in, by

Question Number : 48 Question Id : 26026948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable prepositions. Choose your answer from the options given:

People  Khapat village were __ for a surprise when they saw a pride ___ four lions taking shelter _ a dilapidated
house on Monday.

Options:

L ® in, under, on, by

> « Oof. in, of in
5 % ON into, in, by

4R off. over, in, by

Question Number : 49 Question Id : 26026949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable collective noun. Choose yvour answer firom the options given:
While I was on a vacation on a cruise ship. I watched a of dolphins swim in a line close to the ship.

Options:
, % pride

> % herd
3 v Pod

4 % shoal
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Question Number : 49 Question Id : 26026949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable collective noun. Choose yvour answer firom the options given:
While I was on a vacation on a cruise ship. I watched a of dolphins swim in a line close to the ship.

Options:
, % pride

> % herd
= o pﬂld

4 % shoal

Question Number : 50 Question Id : 26026950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an ervor. Choose the option that has the error.
Options:
,  Used astar-shaped cutter to stamp out six bread stars

- % from the whole meal bread; swirl the red pesto through the cream

- % cheese and spread onto both sides of the stars.

E
Close, wrap in cling film and leave them to chill in the fridge if you are making it the night before.

Question Number : 50 Question Id : 26026950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sentence is given in four parts as options. One of the parts contains an ervor. Choose the option that has the ervor.
Options:

, « Used astar-shaped cutter to stamp out six bread stars

- » from the whole meal bread: swirl the red pesto through the cream

- % Cheese and spread onto both sides of the stars.

4 %
Close, wrap in cling film and leave them to chill in the fridge if you are making it the night before.

Question Number : 51 Question Id : 26026951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

You eat them. you wear them. you put them in vases and gawk at them appreciatively — but are you really using them to their
tull potential?

Options:
, % ogle

o o BAZE

- w glance

4 % blink

Question Number : 51 Question Id : 26026951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay aitention to
the meaning of the highlighted word in context of the sentence:

You eat them. you wear them. you put them in vases and gawk at them appreciatively — but are you really using them to their
full potential?

Options:
, % ogle

o o BAZE

- u glance

4 % blink

Question Number : 52 Question Id : 26026952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

Backed by the major banks. Paytm allows customers to send money securely to anyone else with the app. just by using
their mobile number.

Options:
1 % fostered

o  Opposed

= % backless
4 % Dpropped

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1

Question Number : 52 Question Id : 26026952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in context of the sentence:

Backed by the major banks. Paytm allows customers to send money securely to anyone else with the app. just by using
their mobile number.

Options:
1 % fostered

-  Opposed
= % backless

4 % propped

Question Number : 53 Question Id : 26026953 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the sentence that has the conjunctions used correctly.
Options:
, « Ifyouwish to excel in the annual exams, you must study diligently.

- % You wish to excel in the annual exams, because you must study diligently.

- % Although you wish to excel in the annual exams, you must study diligently.

4, % If youwish to excel in the annual exams, so you must study diligently.

Question Number : 53 Question Id : 26026953 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the sentence that has the conjunctions used correctly.
Options:
,  Ifyouwish to excel in the annual exams. you must study diligently.

- % You wish to excel in the annual exams, because you must study diligently.

- » Although you wish to excel in the annual exams, you must study diligently.

4 % If youwish to excel in the annual exams, so you must study diligently.

Question Number : 54 Question Id : 26026954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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From the options given below, choose the phrasal verb that can be used to replace the highlighted phrase:

Deepak promised to sing at the concert and though he doesn’t want to perform now. he can’t free himself from the
obligation.

Options:
1 % Getinto it

- » Giveup

3 ® Give into

4 « Getout of it

Question Number : 54 Question Id : 26026954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the phrasal verb that can be used to replace the highlighted phrase:

Deepak promised to sing at the concert and though he doesn’t want to perform now. he can’t free himself from the
obligation.

Options:
1 % Getinto it

> % Giveup
= % Give into

4 « Getoutofit

Question Number : 55 Question Id : 26026955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below choose the one that has been spelt correctly to form a proper sentence.

A is a period of one thousand years, especially one which begins and ends with a vear ending in '000'.
Options:

1 % milennium

> % millenium

= % millinnium

4 « millennium

Question Number : 55 Question Id : 26026955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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From the options given below choose the one that has been spelt correctly to form a proper sentence.

A is a period of one thousand years, especially one which begins and ends with a year ending in '000'.
Options:
1 % milennium

> % millenium
%z % millinnium

4 « millennium

Question Number : 56 Question Id : 26026956 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o # 9 acuF o= ¢
Options:
1. % 54

o o 3TH
E_Wﬁ

4_&-‘3%1-

Question Number : 56 Question Id : 26026956 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T=faf@a 7 @ acas o= &
Options:

1 ® HT

o o 3AH

5 ® E‘:ﬂ'

4_33%1-

Question Number : 57 Question Id : 26026957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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fofe 7 o ‘9= o= Fia-ar &7

Options:

l-ﬁ?lé-s:r
2_3&%?“'3’7
5 v O

4 w Sfceom

Question Number : 57 Question Id : 26026957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e § ¥ ‘FF U Fia-a7 &7

Options:

l-ﬁ?lé-s:r
2_3@%3'3’_!
2 v O

4w SfceoTar

Question Number : 58 Question Id : 26026958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4R 97 ¢ T 5 Tor 9Ed § Ha-a @ s 87

Options:
1 % h®UT TH

o v AT TH
3 % {'IIEW

4 % AAH H

Question Number : 58 Question Id : 26026958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IR gH §¢ I 5 TAr 9T F A W TR 37
Options:
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1 & HHUT ITH
3, % AR

4 ® Eﬂ'S:IFHTH

Question Number : 59 Question Id : 26026959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3T 9EC F FUT FEd & o0y BT F1H F IS AT @ F ST @aT 87

Options:

1&1':&':‘&?-!1?[

5 % HeOg
Tz R ﬁ'%TEFUT

4 v T

Question Number : 59 Question Id : 26026959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3T 9EC F FUT FEd & o0y BT F1H F IS AT @ F ST @aT 87

Options:

1&3@?'?

o % MO
5 % TaEOT

4 v TR

Question Number : 60 Question Id : 26026960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Hieaeaeg e & @Y F=og Far greme

Options:

| % T+ AT + G
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, v T+ Rg + aee
s » TG + & + e

4 % Td + TG + Hledeq

Question Number : 60 Question Id : 26026960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Feaeee ueg & Y F=te F4r gem?

Options:

| » B+ AT + HEE

, v T+ &g + g
2 » TG + [ + Ao

, x Td + T + HAeg

Question Number : 61 Question Id : 26026961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘I e FT TATIEET A8 &
Options:

1_&?&5
g_asc_bﬁ?{?f

4 % FAIA

Question Number : 61 Question Id : 26026961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘NG e FT JATIAS=T Fal &
Options:

1_&%

g_uﬁﬂ?ﬁf
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4 % FTA

Question Number : 62 Question Id : 26026962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A § Y AN F o0 ofFT F FA-wr HeHER FART FI0 2
e
2. o TH®
3. ®% Tqh

4_363??&'“-

Question Number : 62 Question Id : 26026962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TAAT § AH T F forw 9fFq # sla-ar dewR gAm §3—|T%"?

Options:
1, % J94

o o UHh
= % HHch

4_&3?';‘&'-”-

Question Number : 63 Question Id : 26026963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HET G g F T wEr qEre gem:

Options:

enis EHoia]
L TG

o % I WIEAT

o w PR TEa

4 R ehld HIAT
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Question Number : 63 Question Id : 26026963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HET AT oA F T TEr qEreR gem:

Options:

enis EHoia]
L TG

o % I WIEAT

o w PR TEa

4 R ehld HIAT

Question Number : 64 Question Id : 26026964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Heret oreg FiF-|T B?

Options:

1. = iafﬂaﬁl

g_wm
gaaﬁﬁ'

4\;’W

Question Number : 64 Question Id : 26026964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

et ores FF-TT &2

Options:

1. * ia("'él
- B é}tﬂﬂ'
3 ® aﬁH

4\;’W

Question Number : 65 Question Id : 26026965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘HETcAT e T Tdis ey da1sv|

Options:

1.%"‘5

zlﬁm

5 % 5

4 B .JL

Question Number : 65 Question Id : 26026965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HETCHAT 2E FT Heledh Tdalid aa1sv|

Options:

1.#‘W

g_eﬁm

5% 3

4% 97

Question Number : 66 Question Id : 26026966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The LCM of 56. 160 and 250 is:
Options:
% 56,000

1
5 % 2.80,000
5 % 14,000

4 v 28.000

Question Number : 66 Question Id : 26026966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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56, 160 3R 250 & FEcan FATIETH &

Options:

. » 56,000
, % 2,80,000
- = 14,000

. v 28,000

Question Number : 67 Question Id : 26026967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A hotel has 2 managers, 2 cooks, 3 waiters and 3 housekeeping staff. The averages of their ages are 45 years, 50 years.
36 years and 24 years respectively. The average age of the entire staff of the hotel is:

Options:
1 W 37

o W 30

Question Number : 67 Question Id : 26026967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TS B H 2 FEUH, 2 &, 3 X AN 3 gEEH w1 g1 3w g & AHEd HAw
45 =¥, 50 ¥, 36 ¥ 3N 24 I §| oA F P T H AT 7Y AT HACY

Options:

1 v 37
o> R 30
=z R 35

4 #® 32

Question Number : 68 Question Id : 26026968 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Simple interest on a certain sum with 5% interest per annum for 2 years is ¥ 500. Then the compound interest for the
same sum for the same period and interest is:

Options:
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, ® T512
> % T 513
s« T5125

4 % T525

Question Number : 68 Question Id : 26026968 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e fARag g o7 TURuT ST @ 5% af¥es g7 & 2 ast & T 500 =TS 9T & T 2
sH g & forT e 3afY 7 g s e W TR SO TohdeT g’

Options:

| % T 512
, % T 513
2 v T 5125

L % T 525

Question Number : 69 Question Id : 26026969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

x% of yis 50 and y% of 18 is 27, thenx = ?

Options:
i
1 ® 2
3=
8 #® 3
i
T W 4
g
4 & 3

Question Number : 69 Question Id : 26026969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ty FTx% 50 g T 18 FT v% 27 8§, arx=?

Options:
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32 =

adl 33 7

33 -
4w

Question Number : 70 Question Id : 26026970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If one root of the equation x* — 12x + ¢ = 0 is three times the other, then ¢ =7

Options:
1 # 0

2 ¢ 27

Question Number : 70 Question Id : 26026970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ofg FAEOTX? — 12x + ¢ = 0 FT TF HA A A & A1 I ¢, ate=7

Options:

1.%9

z B 18

g # 25

Question Number : 71 Question Id : 26026971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two numbers are in the ratio 5 : 7. If 10 is subtracted from both numerator and denominator, we get the new ratio as
25 : 37. The numbers are:

Options:
|« 60.84
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4 % 20,28

Question Number : 71 Question Id : 26026971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FEEH F T 5 TR IR I I WA T F IO T T E, A EH 25 3T F T H TH
AT HFAT AT BT g1 HEAT g
Options:

. » 60, 84
5n 55, 77

ocq 15, 21

, = 20, 28

Question Number : 72 Question Id : 26026972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The time taken by a 110 m long train travelling at a speed of 60 kmph to cross a bridge of 170 m in length is:
Options:

1 % 17 seconds

- % 16.9 seconds

= « 16.8 seconds

4 % 16 seconds

Question Number : 72 Question Id : 26026972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

110 #r o7& Yoendr garr 60 FrAvee fr = | 170 #Hr &9 e F 9N A H el AT T2
Options:

- % 16.9 TFE
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5 « 16.8 TFE

Question Number : 73 Question Id : 26026973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Together A and B. B and C. C and A can complete a given task in 3, 4 and 6 days respectively. The time taken for C
alone to complete the same task is:

Options:
, % 22days

5 w 23days
5 % 21days

4 24 days

Question Number : 73 Question Id : 26026973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U F1H F A 3R B, B 3R C, C 3T A fReet FF 3, 4 3R 6 el # 9 & ¥ €1 C @
3ol TET FTY F TATT A H (el THAT o7
Options:

4 v 24 T

Question Number : 74 Question Id : 26026974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A container contains 100 litres mixture of water and milk with the proportion of water as 10%. The amount of water
(in litres) to be added so that the resultant mixture has 15% of water is: (round to one decimal value)

Options:
1 & 6

o o 3.9
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i
®
LA

Question Number : 74 Question Id : 26026974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U e H wrer AR gy F fRsor Fr A 100 SeT g, FEA 9w 10% g1 38 fFsur & Gaer g
(e ) fFremar s afee & afomassss g f&sor & 9 B AT 15% 2 S0 (S3Hed F U
T Fe Uit fear g3m)?

Options:

1_%6

Question Number : 75 Question Id : 26026975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Person ‘A’ sells a car to person *B* at a 10% loss. Person ‘B’ then sells the same car for ¥ 32,400 and gains 20%. The
cost price of the car for ‘A’ is:

Options:
.« $30,000

. % 32,000

2w <33.000

4 % 30,500

Question Number : 75 Question Id : 26026975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TF T ‘A TF e miEd B TF FR 10% F g W A= §1 =fET B 3E FR H T 32,400
F a9 20% & o Hiog Far g1 A F BT R F T 55y A9 Siaw

Options:
. » ¥ 30,000
., % ¥ 32,000

. = T 33,000
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, = ¥ 30,500

Question Number : 76 Question Id : 26026976 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball of 500 g is moving in a straight line. A constant force increases the velocity of the ball from 1 m/s to 5 m/s in
10 seconds. The magnitude of the force is:

Options:
i % 01N

> o 02N
5 % 04N

4 % 40N

Question Number : 76 Question Id : 26026976 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

B0 IR s ie i A A ¢t vvs iR aa e Fraa A 10 Fs 7 1 Acyass @
2T 5 HISU/TFE FT &1 g1 T &I A 2
Options:

| x 01N (FE)

. » 02 N (=)

.« 04N (&=

o 40N &

Question Number : 77 Question Id : 26026977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A canon of 1,200 kg is initially at rest but free to recoil. It fires a ball of 60 kg with a velocity of 40 m/s. After firing, the
velocity of the canon is: (all velocities relative to the ground)

Options:
1 % 1.0m/s

> % —1.0m/s

z % 2.0m/s
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4 « —2.0m/s

Question Number : 77 Question Id : 26026977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1,200 fareiems & v& T 3T 7 Fame smwr # € ofea sfowa =@ & e 399 8
g 60 fFarems & Mer 40 HeydFs FT AT T ST g ST F g 91 # 9 8
(Fefr o1fy 3UR ¥ e ¥)

Options:

L v —2.0 HeyEFE

Question Number : 78 Question Id : 26026978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A car of weight 800 kg is moving with a speed of 5 m/s. An amount of 80 kJ of work is done on it. The final speed of
the car (ignoring friction) is:

Options:
1 % 10m/s

- !

> o 15 m/s
z % 20m/s

4 ® 25m/s

Question Number : 78 Question Id : 26026978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

800 Frarame o & U F 5 HieyTews # aifa ¥ aifaA= g1 80 faral S A 71 1 5w W faw
ST 81 (S¥0T §F S AsKers i gY) FX Hr sifaw f

Options:

- « 15 Hrey/aFs
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Question Number : 79 Question Id : 26026979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball of mass m falls from height # under gravity. Let ¥ and K denote the potential and the kinetic energy of the ball at
the height of x. When x = 3A/4, the ratio V/K is:

Options:
1 #® 1/3

> % 1/2
T W i

4. 3

Question Number : 79 Question Id : 26026979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m FETATH HT T g TRcalwuy g & ded h Fas § TR g1 A fSw «FEw W R k ffas
FAT AT A FAT F ghaS gl FT x=3 W4, A VK F HIIT ¢
Options:

L% 1/3

. % 172
T W 2

4¢3

Question Number : 80 Question Id : 26026980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The acceleration due to gravity on a planet is 1/8 times of that on Earth. The radius of the planet is half that of Earth.
Then the mass of the planet is » times that of Earth, where » is:

Options:
1 #® 1/4
- % 1/8

s % 1/16

4 1/32
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Question Number : 80 Question Id : 26026980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U IF W IFcd & HROT a0, YA F 0T H 1/8 Bl TF H FAATE YA & HFEe T g
a9 IE F FeAAT A F HFEA 1 0T §, T 1

Options:

L % 14

. % 1/8
. % 1/16

4w 132

Question Number : 81 Question Id : 26026981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the colour of the universal indicator in a strongly acidic solution?
Options:
1 % Yellow

- w Purple

3 « Red

4 % Blue

Question Number : 81 Question Id : 26026981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sael 3T FEdd J TS I H T 47 BT 87

Options:

1. % SIE
g_wéﬁ'l?ﬁ'
3. ool

4.%3#|3‘!T

Question Number : 82 Question Id : 26026982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The aqueous solution of the salt sodium chloride is:
Options:
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1 % Acidic
> % Basic
= « Neutral

« Amphoteric

Question Number : 82 Question Id : 26026982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AETH FEAREs F90T F FAT TdTT @ g
Options:

1% 3T
o % TR

3 v e
4 % SeygerHt

Question Number : 83 Question Id : 26026983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following metals are above hydrogen in the metal activity series?

Options:
1 « Zinc

> % Silver
3 % Platinum

4 % Copper

Question Number : 83 Question Id : 26026983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ffof@a & @ #ia @ urg, urg afeaar soft # gses & W g g2

Options:

1_;;—'%1?

> ® iiachII
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glwﬂﬁ?ﬁ?

4&3W

Question Number : 84 Question Id : 26026984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What happens when a piece of copper metal is kept in an aqueous solution of zinc sulphate?
Options:

, « No reaction takes place

- » Copper displaces zinc

- % Hydrogen gas is released

4 % Sulphur dioxide gas is released

Question Number : 84 Question Id : 26026984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT BT & I F a|§#u¢5mgﬁﬁ$m#aﬁmﬁmﬁwm%?

Options:

14#3@1@’_‘“?@'%

.« FR oF 5 BruiRg W e §
. « E8gre AE e §

 Howl SEATFEISS AE HAeerdr B

4

Question Number : 85 Question Id : 26026985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The only non-metal which exists as liquid under normal conditions is:
Options:

. % Oxygen

5 % Nitrogen

5z % Chlorine
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4 « Bromine

Question Number : 85 Question Id : 26026985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WA IREUfaal & Gt aFr # 98 A ATl THAT HUTT g

Options:

laBﬁﬁﬁlﬁm
o w TTSEISA
g_wmﬂ

4 v ST

Question Number : 86 Question Id : 26026986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is a folk music popular in the Jammu region?
Options:
1 % Bhuta

> % Bihu
z % Mando

4 + Bhakha

Question Number : 86 Question Id : 26026986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & ¥ Far Fo &7 1 SHHT A T g 87

Options:

1 ® &

2.$~ﬁ¢r|:£iE

3_&1#—5:1-
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4 STET

Question Number : 87 Question Id : 26026987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In 1930, Mahatma Gandhi’s march to break the salt law started from 10 the coastal town of
Options:
, % Jamnagar; Dandi

5 % Sabarmati; Okha
-  Sabarmati; Dandi

4 % Sabarmati; Daman

Question Number : 87 Question Id : 26026987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1930 H, FHAF FlT HI Alsat & o0 FgleaAT It & T 2R T I TG
Options:

| % STHEI; arEr
. » HETH 3HEr
o  TTERHA, g

4 % TTELHA; A

Question Number : 88 Question Id : 26026988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following national parks is the abode of the endangered Asiatic lions?

Options:
1 % Kanha National Park
> « Gir National Park

=z % Corbett National Park

, % Kaziranga National Park

Question Number : 88 Question Id : 26026988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Frafafea 7 & #la-ur 787 3eaa Feav TR R # REw 22
Options:

| % Fegl T 3T

. v TR T 3T
L % FI9C TS A

, % IS TSET 3eTe

Question Number : 89 Question Id : 26026989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

While presenting the Union Budget 2017-18, the government proposed to launch the next phase of STRIVE in the
financial year 2017-18 at a cost of € 2200 crore. STRIVE focuses on improving the quality and market relevance of
vocational training and strengthen the apprenticeship programmes. What is the full form of STRIVE?

Options:

, % Skill Support for Individual Value Enhancement

- « Skill Strengthening for Industrial Value Enhancement

- % Skill Support for Industrial Value Enhancement

4 % Skill Sustenance for Industrial Value Enhancement

Question Number : 89 Question Id : 26026989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2017-18 &1 AT F=ie U7 X ¢ TR o faecig a9 2017-18 & 3 2200 FIz # &g § TR

(STRIVE) & 37Tel TUT &I Fiedl &l & FET @ TS SAFHAS FAGT0T H I0raedm 3R =R
TeraaT § GuUR o HR wfkie] FwAr & gedeer W Ea 81 TgEa (STRIVE) &1 90 #17 &4 82
Options:

=, . g
_— e i B SRfEsEE dog vag—aAe

i - e bl e '} ' § 5
1
5 i F=o @i‘-‘«'-]i?li‘[ B $SEcdel ded UdgedHC

i fErer Taie R $sfigae I Tagaac

[ LS il * A A L
,  EPE HEAH BR s3feae SY TAg-aAe
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Question Number : 90 Question Id : 26026990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following does Part III / Articles 12-33 of the Indian Constitution explain in detail?
Options:
, « Fundamental Rights

> % The Union Judiciary

=z % The Union and its territories

, » Citizenship

Question Number : 90 Question Id : 26026990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT Wi & AT Il / sg=oe 12-356 # Aafaf@as & @ 5w Rean & wagmar @ g2

Options:

| v T AR

. % AT AT
- » U AR 3EF &7

4_&1m

Question Number : 91 Question Id : 26026991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the heaviest naturally occurring element on Earth (i.e. having largest atomic number).
Options:
, » Hydrogen

> « Uranium
% % Promethium

4 % Neptunium

Question Number : 91 Question Id : 26026991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gedl W T 79 d Ao arel ged S (3 §ed 991 A] BEAT 9T) 9cd F AH 4910
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Options:

1_%3313313'3
=T H

> W A
5 % QIATSTH

C AT D)

4 #® &

Question Number : 92 Question Id : 26026992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who won the Wimbledon Championship 2017 under the Gentlemen’s Singles category?
Options:
1 % Marin Cilic

> % Milos Raonic

5  Roger Federer

4 % Andy Murray

Question Number : 92 Question Id : 26026992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wﬁwaﬁﬁﬁﬁmﬁﬁwﬁmzm?#ﬁmmﬂ?
Options:

5 v U BT

4 TE A

Question Number : 93 Question Id : 26026993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following sport did Elizabeth Susan Koshy represent India in Glasgow 2014 XX Commonwealth
Games?

Options:
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.  Shooting

o ® Swimming

- » Wweightlifting

4 % Squash

Question Number : 93 Question Id : 26026993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T=fofea & & &5 @ F ooy go @l F sereet 2014 §09 Fiaqaey Qe # a9Ra &
glafafees frar ar?

Options:

| v emasTEr
g-ﬁm

g_wm

4 ® FHETRT

Question Number : 94 Question Id : 26026994 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In 2017, K J Yesudas was awarded which of the following awards?

Options:
1 % Padma Shri
> % Padma Bhushan

- % Bharat Ratna

4 + Padma Vibhushan

Question Number : 94 Question Id : 26026994 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥ 2017 A, & IgeH & ArAfef@a # # e R & grAfag B

Options:
| w IS
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. U HYEUT
- R o

=z R HANRT Icd

_ uET f3sywor
. W i

Question Number : 95 Question Id : 26026995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is NOT a traditional dance form of India?
Options:
1 % Mohiniattam

-, % Sattriya

5 « Cham

, % Kuchipudi

Question Number : 95 Question Id : 26026995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

F=o@T & 9 Fi9 @ 9Rg F1 RIS o7 =g 87

Options:

1 & mﬁ;ﬁm
g_wm

= o oH

Question Number : 96 Question Id : 26026996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If ORANGE is coded as NQZMFD, how can APPLE be coded?

Options:
; ® ZOODK
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> % ZODOK
2 % ZOKOD

4 « ZOOKD

Question Number : 96 Question Id : 26026996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ife ORANGE #F NQZMFD & &9 & 15 a7 5mar £, O APPLE & 8 &3 frar smeem?

Options:

, % ZOODK
, % ZODOK
- % ZOKOD

. v ZOOKD

Question Number : 97 Question Id : 26026997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the analogy.
PEN : PAPER. : : ?

Options:
1 % GATE : HANDLE

- « CHALK : BLACKBOARD
5 % INK:HAND

4 % TABLE : CHAIR

Question Number : 97 Question Id : 26026997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TEIT H [T F

el [ oehldlaA L

Options:

| w EXETS : et (Ese)

5 « TR . WTHYS
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o % TG ;g

- AT =
4 % 3

Question Number : 98 Question Id : 26026998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options the word that has a similar meaning as that of the words on the
right and left side of the brackets.

FORM (----- ) SHAPE

Options:
. v DESIGN

5 % GROUP
s % CLASS

4 % SECTION

Question Number : 98 Question Id : 26026998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

eredt # @ 39 g &7 997 FL THGFH ¥ 558 & gigar I a2 3N F 92 F ¥ F A &

FORM (----) SHAPE
Options:

, v DESIGN
, » GROUP
- » CLASS

. % SECTION

Question Number : 99 Question Id : 26026999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that, when added as suffix to the letter/set of letters in the image, forms a meaningful word.

R

BR______—% (—)

CH_————
1-/’/
e
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Options:
1 ® ien

> % nie
3z % inr

4 + ain

Question Number : 99 Question Id : 26026999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HeT & 3H HAE &1 904 & o 9T H BT a0 9ede 3EHEN-HAE F AT e d & ®9 H Sl
T U W AT Aed g AT g

R,

BR =% ()
O %
e
R/

Options:

1 % ien

- #% hie
2 ® inr

4 « ain

Question Number : 100 Question Id : 260269100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the number that would complete the series below.
32.31,33, 32,34, 33,

Options:
1 ® 33
2 o 35

= ® 36

4 ® 31

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1



CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1

Question Number : 100 Question Id : 260269100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 HEAT FT T84 & A A &7 5 W B QW #W o

32, 31, 33, 32, 34, 33,

Options:

1 ® 33

CAT 1 Steno Typist English CBT 6th Nov 2017 Shift 1



